
Byte 0
0 0 0 1 0 1 1 0

Byte 1
1 1 0 0 0 1 1 0

Byte 2
1 0 1 0 0 1 1 1

Byte 3
0 1 1 1 0 0 0 0

Byte 4
0 1 1 0 1 1 1 0

Byte 5
1 1 0 1 1 0 1 1

0 0 0 1 0 1 1 0 0 1 1 1

Pixel 0 = 359
1 1 0 0 0 1 1 0 1 0 1 0

Pixel 1 = 3178
0 1 1 1 0 0 0 0 1 0 1 1

Pixel 2 = 1803
0 1 1 0 1 1 1 0 1 1 0 1

Pixel 3 = 1773

Co
lu

m
n 

0

Byte 0
0 0 0 1 0 1 1 0

Byte 1
1 0 1 1 0 0 1 0

Byte 2
0 0 1 1 0 0 1 1

Byte 3
0 0 0 1 1 0 0 0

Byte 4
1 0 0 0 0 1 1 0

Byte 5
1 1 1 1 1 0 0 1

0 0 0 1 0 1 1 0 0 0 1 1

Pixel 0 = 355
1 0 1 1 0 0 1 0 0 0 1 1

Pixel 1 = 2851
0 0 0 1 1 0 0 0 1 0 0 1

Pixel 2 = 393
1 0 0 0 0 1 1 0 1 1 1 1

Pixel 3 = 2159
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